ALLISON

ALS 10B SERIES
APPLICATIONS

FIRE & RESCUE
PUMPER CLEANER
TRUCK CRANES
REFUSE

TRANSMISSION
CODE

MD 3000 / 3060 / 3070
3560 / 3066 / 3566
HD 4060 4070 / 4076 /4560

ALS 10B SERIES PTO MODEL NUMBER DESIGNATOR & SPECIFICATIONS

ALS- -07-2-1-E-L
OEM J L Mounting
ALS - Allison L - Left Side Mounting
R - Right Side Mounting
10B - 10 Bolt

— Qutput
Ratio A = 1410 Series Companion Flange

06 = 0,63 B = SAE-B 2 or 4-Bolt Flange, SAE B
07 =0,72 Shaft (7/8”-13 1)
08 = 0,82 C = 1%” Round Keyed Shaft

D = SAE-B 2 or 4-Bolt Flange, SAE BB
Control Shaft (17-15T)

2 - 12 Volt Solenoid Valve
4 - 24 \olt Solenoid Valve

Arrangement
1 - No Offset

E = DIN 5462 8x32x36 ISO 4-Bolt

F = SAE-C 2 or 4-Bolt Flange, SAE C
Shaft (1%4-14T)

G = SAE-C 2 or 4-Bolt Flange, SAE C
Shaft (172”-23T)

www.toracompany.com ¢ info@toracompany.com ¢ kmspowertakeoff.com




10,91
£ 3,15= Py o
2RlCsen Y 14,04
- | -
‘ '_D—|
O O : L
(@)
L <
c'v_) = §)\ \2 )\ =
O \
ofod ' ¢ | 3 |
B
1
i S Y ) ‘A

|
g — s ————+ M]]
¢ 1 / <> | DIN 5462 8x32x36 150 4-Bolt
o (® | Gear Backlash Control Plug
T V Pressure Sensor
I, © | Solenoid Valve
)
0 [1
y EE_]]:
T 799 Max Working RPM : 2000
598 Optimum Working Temp. : 25-80°C
- Al 8 Short-term Working Temp. : 80-90°C

Risking Working Temp. : Over 90°C
Body Material : US 65-42-42

Weight : 65-78 Ibs
*Varies Depending on Output Type*

www.toracompany.com ¢ info@Qtoracompany.com  kmspowertakeoff.com




www.toracompany.com ¢ info@toracompany.com ¢ kmspowertakeoff.com

#< KMS
OUTPUT OPTIONS
7 N\
15.35 18,31
L ——=——— ——=——
ﬁ[ =2 ; B-D Type Output = C Type Output
0 1 SAE-B & SAE-BB =} 1%" Round Keyed Shaft
2 or 4-Bolt Flange
| 15,28 ) 16,46
[ E _'_=='_[[
o e F-G Type Output = A Type Output
" L SAE-C & SAE-CC [ | ® 1110 C on Fl
2 or 4-Bolt Flange Al el
N J
R TYPE MOUNTING
4 N\
Additional Lub. Hose for Top Mounting Only
- [N )
A
|
N
@[> AN
© 0
-1
T T
i 1
O "ﬁg 0
.
ALS-10B*06 ALS-10B*07 ALS-10B*08
Con. Torque Rating (Ib-ft) 390 360 340
Power @ 1000RPM (HP) 74 69 65




A

KMS

\\V7

a4
ACCESSORIES
77 ] N\
Transmission Transmission Valve ISO Output Mounting Parts
Mounting Parts Gasket
T12-044
708-001 o O 106-173
« el S
Y/ 107-057 104074 0
*‘ 706-010
W o @ (Key Shaft]
O UF-Coupling
&
\0_0, .
Code | Qty Option Code | Qty
1 T08-001 8 Code Qty 7 T04-002 1
2 T07-057 8 Code Qty 5 T12-044 1 8 T06-173 4
3 | D13-032 2 4 T04-074 1 6T | 12-044-1 9 T06-010 4
Sensor and Connector Hose
T12:039 BL] 13
y ({0 HRT-103
113-034 HRT-114
T12-046
Code Qty
CBCed e 1 T13-034 1
10 | T12-039 ! 12 HRT-103 1
11 T12-046 1 1S HRT-114 1
\& J
/s 2\
No Code Description No Code Description
1 T08-001 M10 REINFORCED NUT 8*8 8 T06-173 M12X45 IMBUS BOLT 8*8
2 T07-057 M10X40 STUD 9 T06-010 M12X35 IMBUS BOLT 8*8
3 D13-032 @11x25 CENTERING PIN 10 112-039 | Sender Connector (OIL SENDER SOCKET)
ALISSON OIL PRESSURE SENDER (FOX
4 104-074 ALISSON FACE GASKET 1 T12-046 F4S1/M2 1>12 bars) (
5 PR T ey el Ve - SRAGSERDY T13-034 |  7/16X7/16 OIL FITTING (ELBOW)
ALLISON SOLENOID VALVE 24V (SV90-G39S0- 7/16"-7/16"80cm hydraulic 3/16" hose
6 T12-044-1 oy 13 HRT-103 (ALS.3060)
HEADS 7/16" HOSE 3/16" U HOSE
7 T04-002 80" GASKET 14 HRT-114 (ALISSON LINING LUBRICATION HOSE)
\& 165MM v,
& www.toracompany.com @ @ @
& www.kmspowertakeoff.com E
info@toracompany.com toracompany -
11417 IL 19, Franklin Park, IL 60131 |
© T i r .
s (630) 785-2410 Eu l-ﬂ
i tora.
! (331) 688-4947 PIELCOIMY N www.toracompany.com

www.toracompany.com ¢ info@Qtoracompany.com  kmspowertakeoff.com



